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TERMINAL
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Animage capturing optical lens assembly includes, in order from an object side to an image side, a first
lens element, a second lens element, a third lens element, a fourth lens element and a fifth lens element. The
first lens element with positive refractive power has an object-side surface being convex in a paraxial region
thereof. The second lens element has negative refractive power. The third lens element has refractive power.
The forth lens element with positive refractive power has an object-side surface being convex in a paraxial
region thereof and an image-side surface being concave or planar in a paraxial region thereof, wherein the
object-side surface and the image-side surface of the fourth lens element are aspheric, and at least one surface
of the forth lens element has at least one inflection point thereon. The fifth lens element with negative
refractive power has an object-side surface and an image-side surface both being concave in a paraxial region
thereof, wherein the object-side surface and the image-side surface of the fifth lens element are aspheric,
and the image-side surface of the fifth lens element has at least one convex shape in an off-axial region
thereon. When specific conditions of the image capturing optical lens assembly are satisfied, the back focal

length of the image capturing optical lens assembly can be reduced for maintaining the compact size thereof.
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An image capturing optical lens assembly includes, in

order from an object side to an image side, a first lens
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element, a second lens element, a third lens element, a fourth
lens element and a fifth lens element. The first lens element
with positive refractive power has an object-side surface
being convex in a paraxial region thereof. The second lens
element has negative refractive power. The third lens
element has refractive power. The forth lens element with
positive refractive power has an object-side surface
being convex in a paraxial region thereof and an image-side
. surface being concave or planar in a paraxial region thereof,
wherein the object-side surface and the image-side surface of
the fourth lens element are aspheric, and at least one surface
of the forth lens element has at least one inflection point
thereon. The fifth lens element with negative refractive
power has an object-side surface and an image-side surface
both being concave in a paraxial region thereof, wherein the
object-side surface and the image-side surface of the fifth
‘ lens element are aspheric, and the image-side surface of the
fifth lens element has at least one convex shape in an
off-axial region thereon. When specific conditions of the
image capturing optical lens assembly are satisfied, the back
focal length of the image capturing optical lens assembly can

be reduced for maintaining the compact size thereof.
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Image Capturing Optical Lens Assembly, Image Capturing

Device and Mobile Terminal
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Al0= 1.4098E-02 -1.9008E-02 -8.6382E-02 1.0646E-02 5.6683E-01
Al2= | -4.5389E-03 2.9005E-02 3.5308E-02 1.1194E-01 1.1843E+00
Al4 = 2.2113E-02 3.7437E-02 2.1552E-01 -6.1206E-02 | -2.6094E+00
Al6 = 1.0550E-02 -3.9497E-02 -2.8573E-01 2.3420E-02 1.5961E+00
=H| 7 8 9 10 11
k= 1.7358E+01 -8.6375E+00 3.5643E+01 -2.5940E-01 3.3397E+00
Ad = -4.7168E-01 -1.0450E-01 9.9012E-02 -9.4343E-02 -1.2954E-01
A6 = 6.4141E-01 7.5493E-02 -7.1448E-02 9.7734E-02 6.3156E-02
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A8 = -1.3256E+00 -1.8112E-01 5.3782E-03 -2.0580E-02 -2.6919E-02
Al0= 1.9874E+00 1.7401E-01 1.3016E-02 -1.2336E-03 7.3548E-03
Al2= -1.8352E+00 -9.8537E-02 -6.1362E-03 1.1927E-03 -1.2959E-03
Al4 = 9.0023E-01 3.1084E-02 1.1256E-03 -1.8246E-04 1.4433E-04
Al6 = -1.7539E-01 -4.2357E-03 -7.6431E-05 9.4642E-06 -7.5662E-06

[0067) £ — B4 185

— BRI EEEE K

RPE EEREEMEMS mm> BHRE 0-14 IKF KR
HYBHZEGANERE K-_BE—HEG P AIERE H
B HEp >k RIFKEDHRAEXNFOHEBTRE > A4-A16
QIR TNEREE 4-16 [EIFFRERE - L4 > LT R E KD
KBV HEXERIVTEBHEGEZHBRE » R& P HE
MEEFBERE—HFHEANEKR KRB EZHER  FEHAT
ho % -

<% Z " It §l >
[0068] HE2MEIEARFE 4B HPEIBRERKBAR

HE_ERBPN -—RBNEGEENIEE % 4 BHEEL
KFEFERFE_EBROINKEZ - Gk EHMRE - H5E 3
A B _EBRAFIMINGEEBES S NG 2HMECKBELN)
UkBEEFREETH 280 NENXEFHEHBDAZERAKFE

SOt 200 F —FEE 210 55 —_FEHE 220 F=F & 230 -

FUFESR 240 FHEH 250 AL RBEBRE L 260 LI K
AR HE 270 TMEFREATHE 280 BERINE A EHEEAN K
& m HbeRNGEXEGHEFEEGRETFINERBLRA
(210-250) HE5E —F#H 210~ 55 _FE 8 220 5 =3F £ 230 -

270
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FUUESE 240 URBEEBHE 250 th o (TR A B 8B R X
e EE—FRME -
[0069)] % —ZEH 210 B FERIT N EBEBHE &Y
BIRE 211 EXMBESONE HEARE 212 FXHES
E W ESIERE
[0070] - EH 2200 EF AR H EEEBHE Y
BIEHE 221 EXMESOE > HGEXE 222 FXUBES
ME > LESERE - B4 S_EEWHRE 221 &5
® s
[0071] =B 230 A FARFTH LEEBHE Y
BIE 231 EXMESME > LEEXE 232 FAHES
M BESERE - B4 ESESYWAIKE 231 A%
Rihs > HEGAEE 22BHRAeEE40—ME -
[0072] EIUEH 240 EFEREIT N EBEBHE £
BT 241 SEXBESOE HGEAXRE 242 FHBES
ME > EESERE - B4 BEUEHEYARE 241 R &
@ pxE22EEERMHE -
[003) £ AFHE220EFARTH LEYBHE  HY
BIRmE 251 EXMESME  HEEUXE 252 FXLHES
ME > WESERE - B4 FEEHEWAEE 251 HiE
BlmE 252 ¥EERME > BHGERE 252 B EaS
E/J\;&E °
[0074] 4L A RUEBRIEEF 260 SHBHE HBEBERER
H2ORREHE 2I0OMAFRSENGHSEMANEE -
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[0075] BEEEAEZBTIE=ZUKENE -
= ETEKH
f(EERE) = 4.09 mm, Fno(GEEEHH) = 2.45, HFOV(4 i) = 34.5 &
FE HhER4E EE ME | ITEE | GRS | £iE
0 #wEY ~H R
1 e TEH -0.238
2 E—FEE | 1.536 ASP 0.472 Pl 1.535 55.7 2.79
3 -45.582 | ASP 0.091
. 4 BTEE | 5.418 ASP 0.272 Pzl 1.650 21.5 -4.78
5 1.937 ASP 0.494
6 EB=EE | -5.845 ASP 0.735 ¥ERR 1.535 55.7 -69.99
7 -7.229 | ASP 0.389
8 EIIEE | 2.038 ASP 0.533 B 1.544 55.9 3.85
9 64.661 | ASP 0.580
10 BAHEH | -2.049 ASP 0.407 By 1.535 55.7 -2.79
11 5.909 ASP 0.300
RV ARTR
12 . TH 0.300 8587 1.517 64.2 -
ErigAA
13 1 0.253
14 BA%E ~E -
ZZHE(d-line)£ 587.6 nm
=M - JEERE{REL
F<H 2 3 4 5 6
= 2.4219E-01 1.6053E+01 -8.9366E+01 -1.1003E+00 3.1430E+01
Ad = -4.0584E-03 -1.0599E-03 3.9092E-03 -2.7519E-02 -1.7439E-01
A6 = 9.7940E-03 3.8731E-02 6.3289E-02 1.4389E-01 3.2816E-01
A8 = -2.3033E-02 -1.8513E-02 -4.8515E-02 -4.2240E-02 -7.6088E-01
Al0 = -4.5527E-03 -9.7901E-02 -6.4478E-02 -6.0694E-02 7.9413E-01
Al2 = 3.0554E-02 2.0572E-02 -3.2852E-03 6.1950E-02 1.6416E-03
Al4 = 6.5113E-03 1.0823E-01 9.4606E-02 9.8043E-02 -7.0345E-01
Al6 = -7.2153E-02 -1.2996E-01 -6.5448E-02 -8.6420E-02 4.5073E-01
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RHE 7 8 9 10 11
= 2.4024E+01 -9.4973E+00 -6.8733E+01 -3.5517E-01 3.4082E+00
A4 = -3.1772E-01 -6.0256E-02 3.0439E-02 -3.9290E-02 -9.8569E-02
A6 = 3.3840E-01 -6.5562E-03 -2.9661E-02 5.5357E-02 4.1557E-02
A8 = -4.8340E-01 -1.0137E-02 4.5977E-03 -2.2844E-02 -1.6635E-02
Al0= 5.3936E-01 2.2765E-03 5.7859E-05 6.9548E-03 3.8184E-03
AlzZ= -4.0900E-01 -5.1953E-05 1.4487E-05 -1.3206E-03 -4.4048E-04
Al4 = 1.7717E-01 -2.2317E-04 1.2982E-06 1.3445E-04 2.0145E-05
Al6= -3.2387E-02 6.3609E-05 -2.1135E-06 -5.4425E-06 1.7044E-07
[0076] E—E WA ERENEBRFEXEXTRUE—F

® OB R - o TEZENEEEHE-—FROMEE -

£ b A~ o0 LA A -

[0077) BEEX=ZRENTHEL TH & :
-y

f [mm] 4.09 R4/R3 0.36

Fno 2.45 (R9+R10)/(R9-R10) -0.49

HFOV () 34.5 R7/f 0.50

V1/V3 1.00 f4/R8 0.06

CT3/CT1 1.56 (R10)-(f/R9) 2.69

CT2/CT5 0.67 f/f4 1.06

T45/CT5 1.43 |£4/63) 0.06
Y41/CT4 1.77

[0078] S4 » E_BHANMEXBHEEA T 5 2]

— &

210 BAE5 3B 8% 220 RO ERUTEI PR R BE R T12 55 — & 8%
20 SAE =5F 8 230 AOEE ERORFREEBER T23 E =& &
230 L MUEHR 240 RO Eh LRI FREEBE B T34 25 UE 8
240 EHEE A E SR 250 AOLE E ORI FREEBE R T45 > H o T45
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B EHRBERPTHEKRE -

<=7 s>
[0079) FFE2BE SERFE B HIESERRKBASR
BHE—EHRIAN —ENGEEN IEER £ e BHELER
KEFEFRE=ZFHAINKRZEZ  GHUEKEHHEER - HE 5 H
- B=ZEREIINGEECENEXEHBECRISER)
DLREFREETH 30C-NENAEHEAEYWHELRAKF S
S LR 3005 —5FEHE 310 F _FEHE 320 FE =554 330 -
BEUVUEEE 340 FEAEHE 350 FIHARBERENH 360 LK
R E 370 TMEFREEITH 380 BN MBI ZHEMEMN K
BE 370 AP NG X LEHTERERBERT INEERAR
(310-350)> B % —3E8 310 5 - 3F 8 320 FE =3F 8 330~
BEUUESE 340 LR B A FEE 350 o (T 7Y A8 46 35 58 7 A Ok
EEERF —ZRMEE -
[(0080) E—ZFEH3I0AEEFEREIN I BEBEBHME  HY
® fizmE 31l AEESE > HGAKE 312 8XHERS
MHE TERIEXE - B4 E-EHREGHEXE 312 BF
[ eh B -
(0081 X —_EHE 320 EFAREIT N EBEBME HY
fikE 321 A EME B hE - EGAIKRE 3220 6HER
M- TERFRE - B4 FE_EZHYWEXE 321 BF
et B -
[0082)] B =FH|W330EFERIT T EHEEBME HEY
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BIRE 331 EXMEBME > HGERE 332 FXEES
O LEBIERE - B4 ESEEWHEERE 331 AF
K% BEHGEEEINBUEAEEDS—ME -
[0083] ENBEBH40EAEEREF N EBEBEME  £W
BIRTE 341 SEXRBEBSMNE > LGEIRE 342 F 6% S
ME - LESBERE - B4 ENEHYWHARE 341 B
BIRTE 342 &5 A4 K 8 -

[0084] EREBHISOEEAREFH > EBSEBEME  £W
BIZRE 351 AAMBESME LEAFE 352 Frams
ME > LEBERE - B4 SEEHYHEE 351 HiE
BIRE 352 ¥ B AR LEGARE 352 B EEA
B — M -

[0085) AT 4h B BRUE S 360 B MM E KB BNREER
BEHIORKEBE 3O MET L EMG L B HENEE -
[0086] BMERE&G2BFHEAUREAR -

*=H - E=FhEH|
f(EEER) = 4.17 mm, Fno(GLEE(E) = 2.45, HFOV(EEA) =343

FME R B ME | TEER | EEURE | £iE
0 wHEY TH R

1 B TH -0.277

2 F—FE | 1.495 ASP 0.481 E2i)iZS 1.535 56.3 2.71
3 -43.564 | ASP 0.110

4 E3ESE | 5.006 ASP 0.240 B 1.632 23.4 -4.15
5 1.690 ASP 0.547

6 FE=EE | -8.663 ASP 1.021 R 1.535 56.3 113.52
7 -7.893 | ASP 0.272
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8 FEUOES | 1.853 ASP 0.400 el 1.544 55.8 3.83
9 15.385 | ASP 0.591
10 FRBHE | -2.071 ASP 0.400 il 1.535 56.3 2.77
11 5.573 ASP 0.300
FARSY 3
. 12 : THE 0.210 7377 1.517 64.2 -
ZR7:5,/a
13 TmE 0.344
) 14 BASE =M -
ZEZ W (d-line)£ 587.6 nm
A FFRRERY
’ <HE 2 3 4 5 6
= 3.1559E-01 9.0000E+01 -9.0000E+01 -2.1952E+00 2.8255E+01
Ad = 4.5787E-04 1.0870E-02 -2.3916E-02 -3.9144E-02 -9.7931E-02
A6 = 1.1007E-02 5.2397E-02 7.1763E-02 1.9616E-01 1.4339E-01
A8 = -4.9525E-03 -2.0126E-02 -3.3714E-02 -1.1029E-01 -4.8213E-01
Al10 = 1.1544E-02 -7.5623E-02 -1.2212E-01 -3.8904E-02 9.1448E-01
Al2= -3.6632E-03 8.4265E-02 -1.5590E-02 1.4312E-01 -1.0105E+00
Ald = 3.7320E-02 5.7021E-02 3.3957E-01 -4.4844E-02 5.9194E-01
Al6 = -3.0663E-02 -1.1318E-01 -3.3263E-01 -2.1569E-02 -1.3350E-01
XE 7 8 9 10 11
= 2.4024E+01 -7.2128E+00 4.8697E+00 -3.0778E-01 3.4082E+00
Ad = -2.9503E-01 -6.6752E-02 6.5691E-02 -5.6704E-02 -1.0689E-01
' A6 = 2.5350E-01 4.3259E-02 -3.6210E-02 3.9936E-02 3.3711E-02
A8 = -2.4208E-01 -8.5244E-02 -1.7648E-02 1.5561E-02 -6.2726E-03
Al10 = 1.7840E-01 5.2590E-02 1.5768E-02 -1.3025E-02 -9.6255E-04
Al2= -8.7256E-02 -2.0285E-02 -3.9948E-03 3.3856E-03 7.2812E-04
Ald = 2.3927E-02 4.4273E-03 3.7682E-04 -4.0521E-04 -1.2053E-04
Al6 = -2.7445E-03 -3.2802E-04 -6.0520E-06 1.9181E-05 6.5071E-06
. [0087) E=Fmeld FERENHE FEXETTRUE—FB

BOIBER -5 TRZ2ENWERLEHAE -FHLHER

£ IE A hn LU
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[0088] BLERARRKRATFHEEL TIISE :

E=EHH
f [mm] 4.17 R4/R3 0.34
Fno 2.45 (R9+R10)/(R9-R10) -0.46
HFOV (f) 34.3 R7/f 0.44
V1/V3 1.00 f4/R8 0.25
CT3/CT1 2.12 (fR10)-(FR9) 2.76
CT2/CTS 0.60 /4 1.09
T45/CT5 1.48 I64/63)| 0.03
® Y41/CT4 2.45
[0089] B4 » E=FHRFVWNEXEHEMLT  E—FH

310 B8 —5E 8K 320 ROt E AU FREERES T12 -
320 35F = E B 330 Mot ERRIFREEBE R T23
330 S UESH 340 RotEh LAY REERE R T34
340 B ZE A E R 350 ROt # LR R MR EE BE &5 T45

BRrEHMRBEEDNREKRE -

<% U T H >

S

3
|l

i
i

S

H
1]
i

N
W

[0090] FH2RWETERE SEH HPE TEERKBAS
HEMNEHEIN -—ENGEENTEE £ SEBHEER
KEREUEROIIRE - G R EMdUGRE - B 7
A ZHEREANNEEELENGLEER(REER)
DREBEFRETH 480- W XLBHEHDAEGAIKFE

SE—FBHE 410 B 400 5 ZFEH 420 F =3F 8 430 -

FEUUFESE 440 FAEH 450 LA RERBELF 460 LI K
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RETHE 470 MEBEFRBRAETH B0RENNG B2 HANK
GE 470 HP NG X EREHTEERET INWESES AR
(410-450) HEE — B8 410~ 25 —E$E 420 55 =3F 5 430 »
FEMZER 440 LR BEREHR 450 7 - (T WMEBBHER R K
e AEF-ZRMEE -
[0091] 2 —Z8H4I0EBFEREIT LN EBSEBME &Y
Blkm 411l AXBWERSOH EGAERKRET 412 BXEHES
| hiE > LERIERE - B4 E—ZEYWHEEXHE 411 BF
® s -
[0092] 5 —ZEH 420 B FEREIT N EEEBME Y
Blkm 421 A ERLE > HGARET 422 BXEHES
ME - tESHFEXRHE -
(0093 26 =F 430 EEFEREIT N EREBME » EY
Blm 431 AXEHBER T EH EBAIRET 432 0 XEHES
M LERERET - B4 E=ZFEHFYHERE 431 k&
fl=m| 432 EEARME - BEYHEXE 431 BEE RS
@ =/V-—MVE G HGHEXE 4 2BEHEEEEL —ME -
[0094] ZEUZEHE 440 EFEREIT H ESEBMHE  HY
BIsRE 441 ACMBER O E > HEBAEIRE 442 BXEHES
M TERFERE - B4 FUNERYERE 441 k&
Bl 442 F A BH X B -
[0095] B HZEHKA4SOEFEREIT N S BBEME  £Y
Blkm 451 AN HMMBERME @ EGEIRE 452 AXXEHES
M LERFERET - B4 EAFHEYWERET 451 HE
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BIRE 452 ¥R R HGARET 42 BMEaEs
EH—E - |
[0096] A4S BERREHI 460 BHBEHE ERBERER
BHASORKGE IOMETE BN G L EHAMES -

[0097] BRE&Z2BFIHREUREN -

xt - BHEEHHES]

fOEERR) = 4.23 mm, Fno(3LEEE) = 2.80, HFOV(4iEfA) =344 &

FRME R4 EE wE | FTre= | EBURE | £iE

0 Y TH SR

] BT—EE | 1.970 ASP 0.408 B 1.535 55.7 2.99

2 -7917 | ASP -0.028

3 b i) ~E 0.157

4 BETEE | 5.829 ASP 0.268 riliz s 1.639 23.5 -4.32

5 1.841 ASP 0.604

6 B=3EFE | 19.079 | ASP 0.911 )iz 1.535 55.7 43.90

7 100.000 | ASP 0.318

8 EIUES | 1.870 ASP 0.517 8RR 1.544 55.9 4.05

9 11.181 ASP 0.682

10 EAEE | 2316 | ASP 0.400 Pz 1.535 55.7 3.2
. 11 6.330 ASP 0.300

FARS S N

12 . ] 0.210 30 1.517 64.2 -

13 THE 0.350

14 AR E THE -

ZEZ R (d-line)& 587.6 nm

F=\ - FEERERE

FHE 1 2 4 5 6

k= -8.8036E-01 -1.0000E+00 | -1.0000E+00 | -1.8703E+00 | -1.0000E+00

Ad = -3.9461E-02 -1.0272E-04 1.7401E-04 -2.2607E-02 -6.3433E-02
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A6 = 1.8847E-01 4.0721E-03 7.3149E-02 3.2356E-01 9.5684E-02
A8 = -9.5734E-01 -1.6204E-02 -2.8126E-02 -8.7171E-01 -1.6429E-01
Al0 = 2.6397E+00 -3.2589E-02 -7.6547E-02 1.2666E+00 1.8009E-01
Al2 = -4.5347E+00 -8.6781E-02 7.0522E-03 -6.3955E-01 -1.1619E-01
Ald = 4.2614E+00 1.2554E-01 2.0766E-01 -3.3774E-01 3.8421E-02
Al6 = -1.6800E+00 4.7984E-03 -1.5045E-01 3.4746E-01 -4 9738E-03
) EJ1] 7 8 9 10 ii
= 3.4676E+01 -7.0979E+00 1.1848E+00 -2.8998E-01 2.8115E+00
A4 = -2.4297E-01 -8.4941E-02 -3.5222E-02 -1.0963E-01 -7.7446E-02
A6 = 1.9838E-01 6.4145E-02 6.7277E-02 1.2163E-01 3.3071E-02
A8 = -1.8047E-01 -6.9481E-02 -5.9965E-02 -5.6843E-02 -1.0536E-02
AlQ= 1.2512E-01 3.3023E-02 2.6816E-02 2.0594E-02 1.8782E-03
' Al2 = -5.6676E-02 -9.5482E-03 -6.7055E-03 -5.5711E-03 -1.7444E-04
Al4 = 1.4661E-02 1.6981E-03 9.1946E-04 9.0996E-04 6.8907E-06
Al6= -1.6989E-03 -1.3756E-04 -5.6341E-05 -6.5040E-05 -5.9411E-08
[0098) FEINEMEG P FEREWMHEHFERXERUE —
AN ERX -4 TEZ2HWEEETHE—SHAMEAE
fE B Ao DA & e -
[0099] B2 & % & R VA #EH T 5 B
. FUERER]
f [mm] 4.23 R4/R3 0.32
Fno 2.80 (R9+R10)/(R9-R10) -0.46
HFOV () 34.4 R7/f 0.44
V1/V3 1.00 f4/R8 0.36
CT3/CT1 2.23 (/R10)-(f/R9) 2.49
CT2/CT5 0.67 1.04
T45/CTS 1.71 |f4/£3| 0.09
i Y41/CT4 2.03
[0100] B4  FNEHEFGVNEGELEEEH P  E—FEH
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410 B2 " EHE 420 oL Eh EROREIPREERERS T12 5 —E &
420 EAE = FEH 430 RO O RIREEBE B T23 H=F &
430 E B PUSEHR 440 RCEh E ORI FREEBE S T34 ENEE
440 B A FEHR ASORCE ERRFRIEB & T45 H o T45

REAFAHERBERESTOREKE -

<5 0 ' pl>
[o101] ¥ 2MHE 9B K 10 » o 9 B8N K K
® ?ﬁ%%%ﬁ%ﬁﬁ%ﬂ’ﬂ—ﬁﬂyﬁﬁﬁﬂ'ﬂﬁa B I0BEHBHAEE
ARFESLERANIRE - B REHMHBEE - HE 9
T ST %ﬁ%ﬁﬁfﬁﬂﬂ’ﬂﬂy{gﬁﬁ@;ﬁﬁﬂ@%%%%ﬂ(ﬁﬁ%1‘?%
)L KR E FRETTH 580 - N X2 Mm% A E 4 /45K
FFEEXE 500 35 —F8 510 E - FEHE 520 F=FE
130 Z5UE S 5S40~ E A EE 550 AL MIERIEXLH 560
KRG STO-TMMEFRERETH SSORBERN G XEEE
G E STOEPRGAXEEHAGTEEFERENINEES R
@ £ (510-550) HE —5ES 510 B —5EHE 520 & =%
2 530 FINZEHR SAOLIREAFZE 550 > T AHMMESE
MRt EEEE —ZRMEE -
[0102] 5 —ZHESIOEEFEREIT N ERERBME  HY
HiRmE Sl tEESNE > HBAXRE 512 AXLHES
hE > EERIERA - B4 E—FFEHAEEXHT 512 BEF
= BB -
[0103] 5 _ZEHE S20EFEREW N EEBEBHME  HY

28



1491914

BIRE 521 AHMESNE > HEAXE 522 FluUES
MG > LESERE - B4 E_FESHWEEE 521 B4
K i % -
[0104) B=ZFHS0OAEEAEN N EEEBEHE EY
fIRE S31 AXMESME  LGEXRE 532 FrumS
CME LESERE - B4 BEESWEERE 531 B
EEEELS—ME HEHXE 32 BHEaEEL — 0
@o
@ (005] BmEROBRETRFS ASBEHE > £y
BIRE 4 EAXMESNE > LEARE 542 THBES
ME > LESERE - B4 EUEEYWAEE 541 R
B 542 S B 5 K i -
[0106) HEHEEHSSOEFARF N EBEEBEHE  EY
B 551 EXMESVE HGEXRE 552 FHEES
ME > BESERE - B4 SABHGARE 552 B8
Rihe HEEEEE S2BSBEEEaE40—ME -
@ [0107] WHBBEBREXE SOBKBEHE ELBNER
BESSORKGBE STOMAREEN G LS EEWERE -
[0108) BERASBTFIEAURES -

FN. - BAEHES

f(#E15) = 4.21 mm, FnoGYE(E) = 2.40, HFOV(4iEA) =33.7 &

KA HRERPE BEE | M8 | TR | R | &R

0 WED TH R
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1 S THE -0.282
2 E—FEHE | 1.593 | ASP 0.483 B 1.535 55.7 2.79
3 -21.698 | ASP 0.082
4 BTEHE | 5.570 | ASP 0.240 o) 1.639 23.5 -4.32
5 1.814 | ASP 0.617
6 FE=5EH] | -16.310 | ASP 0.698 BE 1.544 55.9 -65.99
7 -30.335 | ASP 0.231
8 SEDUESE | 2.062 | ASP 0.350 R 1.544 55.9 3.86
9 98.901 | ASP 0.714
10 | ZBHFEHE | -3.081 | ASP 0.616 iz 1.535 55.7 -2.94
11 3.434 | ASP 0.300
FLOMRTE .
12 " TE 0.300 5822 1.517 64.2 -
‘ 13 FE 0.275
14 PR AE | -
ZZ W (d-line)E 587.6 nm
F+ - FEEREREL
=E 2 3 4 5 6
= 3.6554E-01 -4.3344E+01 | -8.5036E+01 | -1.3498E+00 | 7.7507E+01
Ad = 2.7377E-04 3.3991E-02 -6.2642E-03 -3.2173E-02 | -8.0734E-02
A6 = 1.2040E-02 2.7196E-02 4.8463E-02 1.2106E-01 1.0277E-01
A8 = 6.5093E-03 -4.9366E-03 -4.9252E-02 -4.9658E-02 | -2.0825E-01
Al0 = 8.5822E-03 -1.0136E-04 | -8.4393E-02 -5.2850E-02 2.5731E-01
‘ Al2= | -1.5481E-03 -2.3831E-02 1.5421E-03 4.8363E-02 -1.9442E-01
Al4 = 2.4296E-02 2.1903E-02 1.5125E-01 -2.6032E-02 8.1829E-02
Al6= | -7.8472E-03 | -2.1618E-02 -1.7039E-01 2.8404E-02 -1.3904E-02
=HE 7 8 9 10 11
k= 4.5828E+01 | -7.2012E+00 | 7.4318E+01 1.0691E+00 1.0587E+00
Ad= -2.8169E-01 -8.3361E-02 2.9238E-02 -1.8760E-01 -1.6017E-01
] A6 = 1.4147E-01 -2.4127E-03 -6.4703E-02 9.7169E-02 7.1968E-02
A8 = -3.8102E-02 | -1.4841E-02 2.9858E-02 -5.2989E-02 | -3.2294E-02
Al0= | -7.0472E-02 7.0442E-04 -1.3055E-02 4.7901E-02 1.0365E-02
Al2 = 9.1222E-02 3.8155E-05 3.1095E-03 -2.6773E-02 | -2.1376E-03
Ald= | -4.5963E-02 | -1.9074E-04 -1.0245E-04 6.8168E-03 2.4293E-04
Al6= 8.6262E-03 2.8884E-04 -3.9332E-05 -6.5986E-04 | -1.1617E-05
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[0109] FAERAIT FEREMNBRAEXARTUOE—F
HIKEN - LI TRZ2ENEZELAE-—FHWOER -
£ AN 0 DA% Al -

[0110] BEERNAKRERTATHEL T HE -

EAEHEH

f [mm] 421 R4/R3 0.33
Fno 2.40 (R9+R10)/(R9-R10) -0.05
HFOV () 33.7 R7/f 0.49
V1/V3 1.00 f4/R8 0.04
CT3/CTI1 1.45 (F/R10)-(f/R9) 2.59
CT2/CTS 0.39 /4 1.09
T45/CTS 1.16 |£4/63| 0.06

Y41/CT4 2.55 :

(0111] S5 - FHEEHWAININELEHHAF B —FH 510
EAZE " EER S20 ROCEh LAY PREE B S T12 58 &8 520
BOS30 ROtE LR REIRERER T23 0 58 =& 8 530
PIE S 5S40 RotE LR REERER T34 B UEH 540

18 AEHE SSO R B LRI RIEERER T45 > Hoh T45 5
FrEMRERPHOREANE -

B
]
Eeu

\

~

B
B
Esa

‘EE

<ENE P>
[0112] FH2WME 1B RS 120 > HhE 11 B RKE
AERBFERNERVV-—ENGEENTIEER B 12E8AHA
EEARFEEAERIORE - GHkEdiRE - &5
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INETH FEAERIAVNEGEECLENGEXEERERA (KRS
BEILKREFRBETH 680 - MEXZ2HEHYA E &M
KEFESXE 600 55 —FH 610 55 _FH 620 =&
8% 630 EVUEH 640 FEREHE 650 AN BREREXE
660 DL B 670 MEFEXTH 680REN NGB ALE
HAEANKGE 67 EFMEXEFEHFEFTEIT I EE
BAK(610-650) HEE—3EHE 610 5 —F 8 620 £ =&
630 EMUFEEHE 640 LAKRERZEH 650 o - {F Y #H #F 35 £
® MRt FHEEF —ZZRKHEE -
(0113 2 —ZFHE 60 BEFERIT I EBEBME HY
HiRmE 611 SAXXEERE HBGAIKRE 612 EXH#MES
ME TERFHE - B4 E-EHGHEKT 612 AF
i
[0114] E_ZH 20 E B AR H BEEEBME  HY
BIRE 621 AXEHERE » HEHERE 622 AXHMES
ME TERFERED - B4 EZEFZHYWHEEXTE 621 EF
® gusx -
[0115] E=FH 30 EFEREIT N EBEBEBHME HY
BIRE 631 AXEERSME » HEHERE 632 AXEHES
ME YERFHRE - 54 E=ZFEHWHEFRE 631 B
EEEELS-—MNE  EGEXHTE 32 B#MEREETELD — N
@o
[0116] EWZEH 40 EFERIT N EBBBEME HY
BIRE 641 FIXEERE > HEHERE 642 A LHES
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ME > LERIERE - BH > FHEEVARET 641 R

HlRHE 642 EEF X dh B -

[0117) EHZEH GSOERFEEN N BB EBBHE HY

flzRiE 651 X EEBME > HEARRE 652 B XH#HE S

ME > LHESBFEXKE - BH > FAEHEYHARE 651 #HE

fim 652 B E A RMhE -  HEGHARE 652 BE#MER R

B TR

[0118] AT 4R IERRVEL T 660 R EHM B HRBERE R
® EH O6SORKERE 6T0MEBEFTELENBNEEFRMHERE -

[0119] HEG2RBTIR+—URE+TZ -

F+— - EAENEH
f(EEFE) = 4.24 mm, FnoG¥FEH{E) = 2.05, HFOV(TRA) =33.5 &
ZRIH HIR PR EXE WE | iR | aBURE | £
0 wHEY TH fRERR
1 FE T -0.388
2 B—FEE | 1.639 | ASP 0.598 B 1.544 55.9 2.79
. 3 -18.301 | ASP 0.085
4 BEESE | 5992 | ASP 0.251 ]2 1.640 23.3 -4.14
5 1.807 | ASP 0.620
6 F=FEH | -16.013 | ASP 1.058 prelizs 1.544 55.9 33.49
7 -8.721 | ASP 0.240
8 EUUFESE | 2.115 | ASP 0.421 o223 1.544 55.9 4.22
9 25.000 | ASP 0.632
10 | EHEHE | 2.259 | ASP 0.350 f22]i2S 1.535 55.7 -2.84
11 4.897 | ASP 0.300
12 ggiﬁ THE 0.300 IR 1.517 64.2
13 TH 0.266
14 A& TH -
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ZEZ P K (d-line)£ 587.6 nm
FRE 7 BERPEE 1.400 mm
F+ - FEERERE
] x| 2 3 4 5 6

= 2.6436E-01 1.3743E-02 -1.0000E+00 -1.7760E+00 2.7613E+01

A4 = -9.7662E-03 3.0763E-02 -6.4787E-02 -3.4345E-02 -6.9612E-02

A6 = 8.1544E-02 -1.3040E-02 9.3901E-02 1.3652E-01 8.2640E-02

A8 = -3.2013E-01 8.4236E-02 -1.9116E-02 -6.9380E-02 -2.5158E-01

Al0= 7.1807E-01 -1.1890E-01 -9.5020E-02 -2.3388E-02 4.1579E-01

‘ Al2= -8.8369E-01 -2.1946E-02 -1.9550E-02 8.7259E-02 -4.0597E-01

Al4 = 5.6974E-01 1.5519E-01 1.9113E-01 -1.9301E-02 2.1110E-01

Al6= -1.4886E-01 -8.8257E-02 -1.2617E-01 -1.9914E-02 -4.1689E-02

FE 7 8 9 10 11

= 1.7358E+01 -8.6666E+00 1.8227E+01 -2.3084E-01 2.5395E+00

Ad = -2.4972E-01 -6.3616E-02 6.7931E-02 -6.3672E-02 -1.0223E-01

Ab = 1.7834E-01 4.7688E-02 -2.2074E-02 5.3470E-02 3.9647E-02

A8 = -1.4490E-01 -9.1114E-02 -2.3522E-02 3.1224E-03 -1.0689E-02

AlQ= 8.7724E-02 6.4138E-02 1.9045E-02 -7.7847E-03 9.8763E-04

Al2= -3.3969E-02 -2.8848E-02 -5.6770E-03 2.1868E-03 1.5526E-04

Al4 = 6.5146E-03 7.6530E-03 7.8610E-04 -2.6193E-04 -3.7033E-05

Al6 = -3.7870E-04 -8.3801E-04 -4.2205E-05 1.2088E-05 1.9256E-06
[0120] EAERAIF FRENMRAEARTUE—F

BHREX -4 TERBENEEELE—FHOIHEE

££ I A o LA e -

: (0121] BEERT—RETZAHEL T EE
BANEHEHI
f [mm] 4.24 R4/R3 0.30
Fno 2.05 (R9+R10)/(R9-R10) -0.37
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HFOV () 335 R7/f 0.50
V1/V3 1.00 f4/R8 0.17
CT3/CT1 1.77 (R10)-(/R9) 2.74
CT2/CT5 0.72 /4 1.00
T45/CT5 1.81 |f4/13| 0.13
Y41/CT4 2.33

S

[0122) B4 EAEHOIWME X2 EHEF
610 B4 — & 620 A8l FRIPEIEHES T12> 5 =
620 B155 = 54 630 AN E FRIMGIEBES T23 > 5 =3

@ 630HBIUER 640 RAE LW RIFGIE RS T34 53
640 155 F B 650 F Y B I 6 Rl PR BE Bk £S5 T45 0 H
5 BT 7 R R B B R B K fE -

o Eeu Eea
® W

v

<E L E RG>
[0123] FH2WE 1I3ERE 148 - EFE 13 B R KR
AZHELCLERANW —ENGEENTEER £ 4BHE
EEEKFEELCERANKRE  GHEREHHBEE - HE
@ BBEITHMN ELERINNGEECENBALEHEEACS
I REFREETH 780 - B2 EEHYEE &
KFEENXE 700 FE—FEH 710 F _FH 720 F=3&F
§% 730 EEUUSESR 740 FEREHE 750 AL BRERELH
760 AR GE 770 MEF B TH 780 B R E{G 2
FEAMBEGE 770 EPNEGEXLERHETERRERT TN EH
BARFKF(710-750) BHE —F8 710 55 _FEHE 720 £=3
%7M‘%m%ﬁ7mu&%£%ﬁ7w¢’EﬁW%ﬁﬁ

e
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RISt A A — 2 KA -
[0124] E—FEIT0OEEERF/ ESEBEME 2y
FERE 71 AXHESME LGEEE 712 FX@ES
MIE W B IERE -

(0125] B -FEH 20EFARETH EBEEHE &Y
BIERE 721 EXMESME  HEHEE 722 FXBES
MIE M S IERE

(0126] E=FE 0 EFEREIT N EBEBEBME HY

@ xm i mkHESAE HeEXRE 2 EREHES

ME LS BERE - B4 BESEEMERE 731 A5
Rihe > BEWEEE 3 BMEEEE —ME £
BEE TN HEEEETES — O E -
[0127] EMUEHE 740 EEERTH - ESEBEHE &Y
BIERE 741 FXBBSME HGHRE 742 FL@ES
ME TESERE - B4 ENEEVEEE 741 k&
Hi=m 742 FE A X dh B -

@ [(028) srFE@ISOABAENR N ESEBEME £y
BIEE 751 EXMBESME  LGEEE 752 EXMHES
ME TESERE - B4 BESEWHEE 751 #E
BIERE 752 SEARMSY > EHGEEE 752 BuEas
BEh—ME -

(0129] ST 4 BUBIRIE L F 760 B BHE LR BERE R
FEEISORKGE TT0MAEFRPENG LB EANES .
(0130] BERAZBEFHE+ZURE+M -
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=+= - ELEHH
fUEERR) = 3.97 mm, Fno(GEEE{E) = 2.25, HFOV(EiiE ) = 36.0 fFF
FRHE HERPE R ME | = | GRS | £
0 #wEY TmH R
1 e FH -0.276
2 E—FHE | 1.649 ASP 0.460 prilizd 1.544 55.9 3.13
3 47.057 | ASP 0.246
4 B 588 |-100.000| ASP 0.207 pri]i 1.640 23.3 -4.23
. 5 2.781 ASP 0.269
6 FT=FEE | 20.598 | ASP 1.319 i)z 1.544 55.9 11.56
7 -8.849 | ASP 0.257
8 HEUUESE | 1930 ASP 0.421 i)z 1.544 55.9 3.89
9 19.950 | ASP 0.633
10 BREZEHE | -2.275 ASP 0.350 pEliZs 1.535 55.7 -2.63
11 3.897 ASP 0.315
AR ® 3
12 . TH 0.300 B 1.517 64.2 -
13 E 0.274
14 ST ~HE -
ZZ R (d-line)f 587.6 nm
@ S+ - JEEREIRE
RME 2 3 4 5 6
= 4.3736E-01 8.9775E+01 -1.0000E+00 | -2.2375E+00 -3.5360E+01
Ad = -6.3412E-03 2.2890E-02 -6.0383E-02 -3.9894E-02 -7.7502E-02
A6 = 9.4540E-02 -1.6455E-02 8.6433E-02 1.3000E-01 9.3752E-02
. A8 = -3.3261E-01 1.0292E-01 -5.1080E-02 -8.2287E-02 -2.4226E-01
Al0 = 7.3947E-01 -1.2914E-01 -1.2521E-01 -3.8064E-02 4.0029E-01
. Al2 = -8.8369E-01 -2.1946E-02 -1.1528E-02 6.4062E-02 -4.0597E-01
Ald = 5.6974E-01 1.5519E-01 2.8603E-01 -1.2977E-02 2.1110E-01
Al6= -1.4886E-01 -8.8257E-02 -2.2465E-01 3.8592E-03 -4.1689E-02
XHE 7 8 9 10 11
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= 1.6571E+01 -6.6261E+00 4.5341E+01 -2.1370E-01 -3.0642E-01
A4 = -2.4550E-01 -71.5921E-02 6.3285E-02 -6.2972E-02 -9.9440E-02
A6 = 1.5167E-01 5.1264E-02 -2.1952E-02 5.2867E-02 3.9455E-02
A8 = -7.7398E-02 -9.2446E-02 -2.3263E-02 3.1575E-03 -1.0843E-02
- Al0= 8.8838E-03 6.3647E-02 1.9042E-02 -1.7797E-03 9.8141E-04
Al2 = 1.6974E-02 -2.8994E-02 -5.6827E-03 2.1882E-03 1.6033E-04
. Al4d = -1.0644E-02 7.6737E-03 7.8574E-04 -2.6225E-04 -3.6680E-05
Al6 = 1.9803E-03 -7.9009E-04 -4.1968E-05 1.2078E-05 1.8701E-06
[(0131] EELHBH T FREHOHRSTEXARTOE —

BHRER -4 TRZBHRUERSEHEE

F—HIEHIER -

£ It A LA Al -
[0132] BEE&ER+=2RETHAHEL T HE

BLEHHH
f [mm) 3.97 R4/R3 -0.03
Fno 2.25 (R9+R10)/(R9-R10) -0.26
HFOV () 36.0 R7/f 0.49
VI/V3 1.00 f4/R8 0.19
CT3/CT1 2.87 (FR10)-(f/R9) 2.76
CT2/CTS 0.59 /4 1.02
T45/CT5 1.81 |£4/63) 0.34
Y41/CT4 2.33
[0133] B4 ELERAVWINGHEBEHS » F—-FH

710 BREE 385 720 RobEh TSI REERE S T12» %

ELEE = F 8 730 ROobEh ERURIBREEBE R T23 55 =& ¢
730 BAEEUUIESE 740 A E E O RIPREEBE S T34, EWEE
740 BEREE AL ESR TS50 oL Eh PR MREIERES T45 KA T
EFEHREREDPERE

WO

&"’nsﬂ

720 kd

BN
(9,
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<& /\E I #l >

[0134] SE2WE ISERE 16 HH%E 15 BgrRIKE
AZHENEBEHEAIN—EBENGEENTER £ 16 BHE
EEKRFBEENEBHRAINKREZE  GHREHHEER - HE
ISEH ENERIMNINEGEBECLSWNENXERERHACKS
BHE)UAKREFRALTH 880 - MERXEZHHABAYE EEA
FEEE—FEHE 810 XHE 800 55 —FEH 820 F =&
% 830 FEIUE S 840 - FEAHIEH 850 - AL MRIEBRENF
860 AR 1R 870 TN &E FREANXITTH 880 EBENEELE
FAHAMKGE 870 HA NG AXEHHTAEFTREN INESE
BARFA(810-850) HE —F# 810 55 ZF & 820 5 =3&
% 830 ZEVUESE 840 IR E A FEH 850 o » (£ i #H #F & 88
i teh FEEF —EFRMIE -
[0135)] 5 —ZHEBI0OEABEREIT T EBEBME  HY
BlRmE 811 AXHWESRSLE  HEGHXRE 812 AXHES
@ g wrsrEHE B4 E-—FEWEEE $11 AE

B ih BE -

[0136] £ —_ZR 820 EFAEWN 1 EREBME HY

BIRE 821 SAEXEERME > HEHXE 822 A XH#HES

M WEBEXRE -

[0137] ZE=ZFK B30 EBFEREHN N EEEBHME HPY

flRm 831 AXHWMERTHE > HGHEKRE 832 A XHER

NE EEBERE - B4 EZFHEWAET 831 k&
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fim 832 BEERME - HEYWH KT 831 BEwBEES

Z2AH—MHE -

[0138] ZEMNZEH IO ERFERIT N EBEBME  HY

BIRE 841 A XBERLEH HEHEHRKRE 842 A X HE S

ME @ EERIERE - B4 ENERDERET 841 K%

B 842 FEBE R E -

[0139) S AZEHSOAEEAREN N EESEBME £y

fIRHE 8S1ANXMESME > HBEHEKRE 82 AXHES
® ME TERERE - B4 FAEHRYWEFRET 851 HE

Blm 852 B EERME r EHBGHEFE 82 BE#E RS

EH—ME -
(0140 AT S WERRUE K/ 860 BINMME  HREBREH

ER S0 kG H V0 M AT ENGLEHHENERE -
[0141] HEAZ2RBTIRTEURE+TA -

xTh - B/N\EHH

® f(EEEE) = 3.70 mm, Fno(G-EBUE) = 2.35, HFOV( i) = 37.2 f&F
ZRIH HRPR EE WE | iR | aBURE | £iE
0 Y TH R
1 F—FEH | 1970 | ASP 0.408 Rl 1.535 55.7 2.99
2 27917 | ASP | -0.046
3 KE TH 0.156
4 FTESE | 5.829 | ASP 0.267 el 1.639 23.5 -4.64
5 1.930 | ASP 0.603
6 F=3FEH 188386 | ASP 0.561 prelizd 1.535 55.7 44.11
7 -26.953 | ASP 0318
8 EVIESE | 1.870 ASP 0.518 22)iz S 1.544 55.9 3.50
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9 95.651 | ASP 0.640
10 BAHEHE | -2.316 | ASP 0.300 Pl 1.535 55.7 -3.13
11 6.331 ASP 0.300
A4S N
12 . TH 0.175 I 1.517 64.2 -
R
13 TmE 0.376
14 FRASHE R -
S22 (d-line)E 587.6 nm
Fz1+75 - JEERERE
FH 1 2 4 5 6
. = -1.0316E+00 | -1.0000E+00 | -1.0000E+00 | -1.8704E+00 | -1.0000E+00
Ad = -3.9343E-02 -1.0419E-04 1.7293E-04 -2.2609E-02 -8.0419E-02
A6 = 1.7385E-01 -6.4773E-02 -1.8857E-02 3.5183E-01 1.0124E-01
A8 = -9.0515E-01 7.1221E-02 1.1784E-01 -1.1159E+00 | -1.5709E-01
Al0= 2.5398E+00 -1.3759E-01 -3.2119E-01 1.8444E+00 1.8883E-01
Al2= | -4.5346E+00 -8.6750E-02 1.6744E-01 -1.4337E+00 | -1.1282E-01
Ald = 4.2615E+00 1.2564E-01 2.0728E-01 2.4869E-01 3.3104E-02
Al6= | -1.6800E+00 5.0635E-03 -1.5123E-01 1.7070E-01 -3.6611E-03
FHE 7 8 9 10 11
= -1.0000E+00 | -7.1093E+00 3.8766E+00 3.4465E-01 -7.3762E+00
Ad = -2.6917E-01 -1.0254E-01 -6.9935E-02 -2.2277E-01 -1.0057E-01
A6 = 1.9810E-01 1.3980E-01 1.5166E-01 2.5995E-01 5.2951E-02
. A8 = -1.8583E-01 -1.8631E-01 -1.3029E-01 -1.5439E-01 -1.8926E-02
: Al0 = 1.2896E-01 1.3775E-01 6.5421E-02 8.6344E-02 4.4060E-03
Al2= -5.2334E-02 -7.1449E-02 -2.1196E-02 -3.3936E-02 -6.6907E-04
Ald= 1.5181E-02 2.0669E-02 3.7656E-03 6.9354E-03 5.9706E-05
Al6 = -2.0442E-03 -2.3174E-03 -2.7214E-04 -5.5309E-04 -2.4728E-06
[0142] BENEHRAI T - EREHHRAELARTUE—F
AR ER - L4 TEZEHNWEEZEETHE —BEROAMAER

£ It A
[0143)

oo LA i e

MEXRTAREXRTATHEEL TIEE -
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EN\EHEH

f [mm] 3.70 R4/R3 0.33
Fno 2.35 (R9+R10)/(R9-R10) -0.46
HFOV (%) 37.2 R7/f 0.51
V1/V3 1.00 - f4/RS 0.04
CT3/CT1 1.38 (f/R10)-(f/R9) 2.18
CT2/CTS 0.89 f/4 1.06
T45/CTS 2.13 I£4/63| 0.08

Y41/CT4 1.98

[0144] 54t ENE RO NELEREF  E—FH
810 BAZE — & 8% 820 A L ¥l ERYRIFREEEE S T12 55 Z & iR
820 BAEE =3E 8% 830 Mo EAIRIREERER T23 - B =& &
830 BLZE VU E &% 840 MOLEN LRI RIERE R T34 55 NE
840 EAZE HE# 850 At # ERIMIIREEBER T45 > H b T4S
B EMBEREDYRKE -

C =
[0145] FH2WE 1ITEKSE 18H - H45E 17T BRERKERE
AZHENERIN—ENREENTIEE % 1I8EHE
EFAEKRFEENEREAIOREZ  GRAKEHHRE - BHE
17TEAH FAERBAMNNGEESE NG EREH(RS
B RETFRETHE 980 - NENX2HEAHAAYWAE E & A
WEFEaXE 900 55 —FH 910 55 _FEH 920 £ =&
% 930 ZEMESE 940 - ERFEH 950 A RMBEREAR
960 AR B 1&TE 970 MBE FRENXTH 980 EMNIMNENE
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FHAOKEE T EFTNGALHEETEFTERN NN ES
B A (910-950) HE —FHE 910 58 —FH 920 5 =3
5 930 SEUEHE 940U K ERHBEHE 950 >
MR FEERF —ZRMBIE -

[0146] £ —ZEHE 0O EEFERIT N EEHEBHME  EY
H=E I EXMERNE > HEHERE 912 EXH#MES
MeE > LTESERT -S4 F—FHBGAEEXHE 912 BF
< i B e -

® [0147) E_ZH 20 EFEEIN N EREBME  HY
fBlxm 921 SAEAXHER T E > HEGHERKXRE 9228 XHER
M > TEBERE - BN ZE_FZHYAEEXE 921 BEF
i B o |
[0148] E=FH 0 EBEAREN T EBYERBMHE HY
fIsRmE 931 A LEHE R ME - HEGHAIRE 93208 6HEHER
hE > WESERE - B4 E=ZFHYWHAEEKE 931 £EF
Kihegh  BEGAXRE I 2EMEEEEL — 1@ -

@ [(00)] HNUBEHMWAEERF N ESEEHE &Y
BIRME 941 At EMERSOHE - HEHERKRE 942 5 XHER
TH LESHERE - B4 FHERYEERE 941 k&
BlEmE 4 2EERERKE -

(0150 B AZEHEISORFAREITH  EREBME HY
BlRmE 951 EXMBERBME > HEHERE 952 ALHER
Mim > EEBEREA - ZH4 EAZFHYERET 951 HEE
Blxm 92 FEEFRME  BEGAXRE 92 BE@ERESR
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B — M -

EH OISO RKBE T0RMBEARZENGAEHMENEKE -
[0152] BEESEZ2RBETIRTEURERTA -

K+t - BB

f(EERE) = 4.26 mm, Fno(GEEB{E) = 2.28, HFOV(4EiE ) = 39.0 fF

. ZRH R4 BEE ME | = | GEURE| &£

0 Y ~TH R

1 p i) TH -0.308

2 FE—FEHE | 1.640 ASP 0.505 re)i 1.544 55.9 3.11
3 44.874 | ASP 0.102

4 BB | 17.007 | ASP 0.241 iz 1.640 23.3 -5.19
5 2.765 ASP 0.475

6 FE=3EHE | -8.902 | ASP 0.751 B 1.530 55.8 -148.63
7 -10.330 | ASP 0.338

8 SEIOFESE | 2.290 ASP 0.392 BR 1.544 55.9 421
9 ASP 0.955

10 BHBHE | 2519 | ASP 0.428 ]S 1.530 55.8 -3.23
11 5.636 ASP 0.300

LS ERTE <
‘ 12 " TmH 0.300 3 1.517 64.2

13 FH 0.268

14 IB4E] TH -

22 (d-line) £ 587.6 nm

F=1/\ - FEERERE

RH 2 3 4 5 6
k= 3.2741E-01 -1.0000E+00 | -1.0000E+00 1.5555E+00 1.2505E+01
Ad = 2.8699E-04 3.3699E-03 -2.6296E-02 -3.9374E-03 -1.2729E-01
A6 = 6.5559E-03 1.8296E-02 6.1647E-02 6.4789E-02 1.2930E-01
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A8 = 1.2051E-04 1.0272E-02 -2.2649E-02 -1.3981E-02 -2.2860E-01
Al0= 4.6752E-03 -1.1594E-02 -4.3108E-02 -2.8004E-03 1.0725E-01
Al2 = 6.5874E-03 -1.2557E-03 2.5452E-03 -1.2630E-03 1.6053E-01
Al4= 4.1758E-03 -9.0489E-03 1.5200E-02 -9.4350E-03 -2.4388E-01
Al6 = -9.2822E-03 -1.1984E-02 -2.6291E-02 1.7799E-02 1.0223E-01
F<HE 7 8 9 10 11
= 2.4551E+01 -8.0026E+00 0.0000E+00 -2.9051E-01 2.0369E+00
A4 = -2.7046E-01 -6.5216E-02 4.5282E-02 -5.4318E-02 -6.5725E-02
A6 = 2.5622E-01 7.3060E-02 -3.0939E-03 3.5047E-02 2.1209E-02
A8 = -3.7035E-01 -1.0440E-01 -1.9231E-02 -3.9087E-03 -5.9471E-03
AllQ= 3.8367E-01 7.3587E-02 1.0761E-02 -6.0924E-04 1.0318E-03
Al2= -2.4617E-01 -3.1191E-02 -2.5984E-03 2.0493E-04 -1.1884E-04
. Al4 = 8.4044E-02 7.3414E-03 3.0454E-04 -2.0228E-05 8.9608E-06
Al6= -1.1443E-02 -7.2716E-04 -1.4356E-05 7.2343E-07 -3.1145E-07
(0153) HABEMOIE FREGHBR I ERARRNE — B

ERIRIR - 4 TRBHENWERETHLE
£ It A 0 LA E A -

£ — B it B HH [F

[0154) BE &R+ ERETNTHEELTIIEE :
BEHEHES

| f [mm] 4.26 R4/R3 0.16

Fno 2.28 (R9+R10)/(R9-R10) -0.38

HFOV (%) 139.0 R7/f 0.54

V1/V3 1.00 f4/R8 0

CT3/CT1 1.49 (FR10)-(FR9) 2.45

CT2/CT5 0.56 1.01

T45/CT5 2.23 |4/83)| 0.03

Y41/CT4 2.81

[0155) S 4  EAERPVWNEGEXREELE S > F—FH
910 B2 25 —3F 8 920 At e E A RIMREERES T12 585 Z B 8
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GHEE D BARBASHEORGL2EE (BRBT) U
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MEBEEAN  EfFEENESEBEES > REAXFEARMRKRE

® HEERRMNABFENGEBRAER B HE -

[F5ERH ]

[0160]

I =EEE - 10~ 20~ 30

U fdEE @ 11 21~ 31

SE B 0 100~ 200~ 300 ~ 400 ~ 500 ~ 600~ 700 ~ 800 ~ 900

% —3ESE 110~ 210~ 310~ 410~ 510~ 610~ 710 ~ 810 -
® Ji0

YIEIFE - 111~ 211~ 311~ 411~ 511~ 611~ 711~ 811~ 911

e @ EE : 112~ 212~ 312~ 412+ 512~ 612~ 712 ~ 812 ~

912
B _iE 8 1 120~ 220 ~ 320 -~ 420 ~ 520 ~ 620 ~ 720 ~ 820 -

YyfEIZ=zmHE ¢ 121 ~ 221 ~ 321 ~ 421 ~ 521 ~ 621 ~ 721 ~ 821 »
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922
B=F& 130~ 230~ 330~ 430~ 530~ 630~ 730~ 830 -

@] E ¢ 131 ~ 231~ 331~ 431~ 531~ 631~ 731~ 831 -

931
e EIEE © 132~ 232~ 332 432~ 532 632~ 732~ 832 -
932
BUYSESE - 140 - 240 -~ 340 ~ 440 ~ 540 - 640 ~ 740 ~ 840 -
940
W) FEE ¢ 141 ~ 241 ~ 341 ~ 441 ~ 541 ~ 641 ~ 741 - 841 -
941 '

el E ¢ 142 ~ 242 ~ 342~ 442 - 542~ 642~ 742 -~ 842 -
942
BAHES 150~ 250~ 350~ 450 -~ 550 ~ 650 ~ 750 ~ 850 -
® s

YyEIZFm®E ¢ 151 ~ 251~ 351~ 451 ~ 551 ~ 651~ 751~ 851 ~

951
B EIZEE ¢ 152~ 252~ 352~ 452~ 552~ 652~ 752 ~ 852

952

SRR ERRIELR - 160~ 260360460~ 560~ 660~ 760 ~
860 ~ 960
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HFOV: NGB X E2HEHFHERR AN —F
f3: E=FHNEIRE
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R4 : E_FHEBEARERH RP K
R7 : 25 V9 3% 89 ] = | 89 il 3 4 K
R8 : 25 VU 3% £ 1% ] 3% | &9 i 3R 4 K
RO : BEAEHYWARER PR
R10: B AZEHRBAREHH P K

T12: % — B H 5 = 55 5 5 Ot & b o R 0E B
T23: F_FHHEE =FHE R 6 L K IEIE B
@ 1545 =immEE S SR L b RIS B B
T45: HMEHMEABH N8 Loy FEE
CTI: &~ EHEANE L0 EE
CT2 : EZFEHENNXELELHEE
CT3: BE=ZFHEANE LOEE

CT4: ENFEERNEH LELHEE
CTS: ERAFEHENNHLELHIEE
Vi E—FENAHBRE
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. —ENEGXESEE HYPHEGAKFES
— B —ZH  BEEEWH HYAREBONEHER
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) —E_ZFEH BBEAEBITI
—B=FE% BEREFIN:
—BNEH > BFEEFN  EVAREOLXHER
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2. MEFERBE 1A EXESHEE KA E_FH
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RAABMENEERS CT2  ZEAEHZNLHLNERESRS
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4. MFEREFE2RAANEGXAEHEE  EPFXE—FH
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